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F1[@ ¥</\(7951) £+f2| 815 12824R| 828/ 12H30H 1,022] 23.4% 30 15 28.9%
$£2E A—4>/3(5816) [i%) 282 12H30B| 250 1H6H 514 1056%| 6 5  110.0%
F£3E AALRIZ(6282) £ | 1,160 1898|1091 18138 1482 35.8% 30 38.6%
$F4m FF+#(6737) £ | 1435 1A178| 1,427 18208 2,135 496%| 55 30 55.6%
FE5E AfE(* *x x2) [ 420 1H238| 429 1R27H 391 -8.9% 15 10 -3.0%
Fol Bft(* x *x8) £ [1689 1H30H]| 1,734 2A3H 2,690 55.1%| 60 58.6%
F7E Cr(* * x3) [ 490, 2H6H| 558 2A10H 1,527) 173.7% 20 30| 182.6%
5$E8E DHt(* * *6) £ [1409 2H138]| 1,356 2A17H 2,020 49.0% 32 51.3%
FoE Eff(* * *5) £ | 1,118 2R208]| 1,133 28248 1,774 56.6%| 29 59.1%
SE10E] FrE(*x * *8) B | 1212 2H278| 1,182 3A3H 1641 388% 32 40 44.9%
E11[E Ya-7k—I/ILT42% (8876) [ 695 3H6H| 690 3810H 1,288/ 86.7% 37 33 96.8%|BFILIERAIEH
120 HEE(* * *6) £ [1590 3H138| 1,742 3A17H 4700 169.8%| 55 173.0%
F13[E #E(* * x7) £ | 1,38 3A198]| 1517 38248 1,907 25.7%| 35 28.0%
14[E J2E(* * % 9) [ 906 3H27H| 865 3A31H 1466  69.5% 40 T4.1% B 1 > E fi¥4,00048 4
15 K (* * * 3) B2 | 1436 4A38| 1463 4878 2385  63.0% 33 65.3%
F16E Lt (* * *3) £ |1,476 48108]| 1,439 4A14H 1,658 15.2% 10 15.9%
FE17E M3t (* * *6) £ | 1460 4R178]| 1,405 48218 1,406 0.1% 0.1%
%£18E T&K TOKA(4636) £ 595 4H24H| 580 4A28H 1,074 85.2% 13 87.4%
$E19E] Oft(* * *5) [ 401, 5H18| 401 5A4H 620  54.6% 54.6%
520 P (* * x0) £ |1889 5A8H| 1918 58128 2535  32.2%| 40 34.3%
%210 QfE(* * *3) fid [ 1236 5H158]| 1,240 58198 1,875 51.2%| 23 53.1%
522 R#E(* * *8) E 974 5H822H| 980 5H26H 1,263 28.9% 13 30.2%
5E23E St (* * *3) £ 718 5H29H| 712 6828 840 18.0% 7 19.0%
524[E T (* * *0) fd | 1,070 685H| 1,190 6A49H 1,145 -3.8% 30 -1.3%
525[m UfE(* * *0) £ | 1963 6812H| 1,952 6A16H 2320 18.9%| 10 19.4%
526E VL (* * *6) E 721 68198| 765 6H23H 810 5.9%| 10 7.2%
527 WHE(* * *8) [ 242 6H26H| 250 6A30H 232 -17.2% -7.2%|773)—t—)L50%3| =
528E] Xtt(* *x % 4) £ 813 7H3H| 829 7RA7H 867 46% 13 6.2%
$20[@ Y(* % %5) £ | 1071 7810H]| 1,013 7A14H 963 -49% 8 -4.1%
530[E Z#t(* * *8) £ | 1695 7AH178| 1695 68218 1,698 02% 25| 30 3.4%
F31E AARE(* * *6) £ 405 7H24H| 410 7H28H 433 5.6% 5.6%
$32E] BBt (* * *4) E 610 7H31H| 615 8AH4H 685 11.4%| 6 12.4%
533E] CCHt(* * *6) £ | 2200 8A6H| 2215 8A11H 1,800, -18.7%| 25 -17.6%
%34[E] DDFE(* * x 2) = 612 8H14H| 609 8H18H 778  27.8%| 10 29.4%
535m EEf(* * % Q) £ [1,899 8H21H]| 1,933 8A25H 1,789 -7.4% 13 13 -6.1%
$36E] FF#E(* * *3) E 679 8H28H| 676 981H 643 -49% 8 -3.7%
537 GG#E(* * *6) £ | 1,714 9A4H| 1,736 9A88H 1,708/ -1.6% 15 30 1.0%
$E38E] HHEE(* * * 1) £ 474 9A118| 464 98158 450, -3.0% 10 -0.9%
539 It (* * *0) £ 894 9H18H| 894 9H22H 918 2.7% 2.7%
F40E JJFE(k * x 7) E 396, 9H25H| 403 9H29H 406 0.7% 0.7%
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